Applied Math 78 Binomial Theorem

Short Questions

Write the short answers of the following

Expand by Bi-nomial theorem Q.No. 1 to 4

Q1  (2x-3y) B2 G 1 34
4 4
os (32 or (o]

QS  State Bi-nomial Theorem for positive integer n
Q.6  State Bi-nomial Theorem for n negative and rational.

Calculate the following by Binomial Theorem up to two
decimal places.

Q.7 (1.02)"° Q.8 (1.04)°
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1
Q.9  Find the 7" term in the expansion of (X - ;j

Q.10 Find the 6™ term in the expansion of (x + 3y '’
2

Q.11 Find 5" term in the expansion of (2 x - XZ y

Expand to three term
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Q.16  Using the Binomial series calculate *\[65 to the nearest hundredth.

Which will be the middle term/terms in the expansion of
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Which term is the middle term or terms in the Binomial expansion
of (a+ b)"

(1) When n is even (i) When n 1s odd

Answers
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